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QUESTION 97 
FILL BLANK 

 

Fill in the blanks to complete the statement. 
 

Cisco DNA Center provides the capability to send an HTTP  request to the API endpoint https://DNA-C_API_ADDRESS/api/v1/ 

network-device/and receive the network list in  format. 

 
Correct Answer: See explanation below. 
Section: (none) Explanation 

 

Explanation/Reference: 
Explanation: 

 

authentication 
parameter json 

 

QUESTION 98 
Drag and Drop Question 

 

Drag and drop the requests from the left into the correct order on the right to create and check the path trace between two devices using Cisco DNA center API. 
 

Select and Place: 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

Correct Answer: 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Section: 
(none) 
Explanatio
n 

 

Explanation/Reference: 

 

QUESTION 99 
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Which YANG statement defines a block of other statements that can be easily referenced in other areas of a data model? 

 
A. grouping 

B. container 

C. submodule 

D. module 

 
Correct 
Answer: A 
Section: 
(none) 
Explanatio
n 

 

Explanation/Reference: 

 

QUESTION 100 
Which two operations are defined in the NETCONF base protocol? (Choose two.) 

 
A. <open-session> 

B. <get-config> 

C. <close-session> 

D. <put> 

E. <remove-config> 

 
Correct 
Answer: 
BC Section: 
(none) 
Explanatio
n 

 

Explanation/Reference: 
Explanation: 
https://en.wikipedia.org/wi
ki/NETCONF 

 

QUESTION 101 
Drag and 

Drop 

Question 

Refer to the 

exhibit. 

https://www.braindump2go.com/
https://www.braindump2go.com/200-901.html
https://www.braindump2go.com/200-901.html
https://www.braindump2go.com/200-901.html
https://www.braindump2go.com/200-901.html
https://www.braindump2go.com/200-901.html
https://www.braindump2go.com/


              Braindump2go  Guarantee All Exams 100% Pass  One Time! 
 

 200-901 Exam Dumps  200-901 Exam Questions   200-901 PDF Dumps   200-901 VCE Dumps  

https://www.braindump2go.com/200-901.html 

 
 

Drag and drop the code from the left code from the left onto the item number on the right to complete the Meraki code to obtain a list of client which have used this 
network. 

 

Select and Place: 
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Correct Answer: 

 
 
Section: (none) Explanation 
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Explanation/Reference: 

QUESTION 102 
Drag and Drop Question 

 

Drag and drop the HTTP status codes from the left onto the correct descriptions on the right. 
 

Select and Place: 

 
 
Correct Answer: 

 
 
Section: (none) 
Explanation 

 

Explanation/Reference: 
Explanation: 
https://www.cisco.com/c/en/us/support/docs/security/web-security-appliance/118217-troubleshoot-wsa-00.html 

 
QUESTION 103 
Drag and Drop Question 

 

Drag and drop elements of the RESTCONF protocol stack from the left onto the correct description on the right. Not all elements on the left are used. 
 

Select and Place: 
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Correct Answer: 

 
 

Section: (none) 
Explanation 

 

Explanation/Reference: 
Explanation: 
https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/prog/configuration/169/b_169_programmability_cg/restconf_programmable_interface.html 

 
QUESTION 104 
Which two elements are foundational principles of DevOps? (Choose two.) 

 
A. designing applications as microservices 

B. encouraging containers for the deployment of applications 

C. organizing cross-functional teams over organizational silos 

D. optimizing the cost of infrastructures 

E. automating over documenting 

 
Correct 
Answer: AD 
Section: (none) 
Explanation 

 

QUESTION 105 
Which two use cases are supported by Meraki APIs? (Choose two.) 
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A. Retrieve live streams from a Meraki Camera. 

B. Build a custom Captive Portal for Mobile Apps. 

C. Configure network devices via the Dashboard API. 

D. Build location-aware apps from Wi-Fi and LoRaWAN devices. 

E. Deploy applications onto the devices. 

 
Correct Answer: AD 
Section: (none) 
Explanation 

 

Explanation/Reference: 

 

QUESTION 106 
Package updates from a local server fail to download. 
However, the same updates work when a much slower external repository is 
used. Way are local updates failing? 

 
A. The update utility is trying to use a proxy to access the internal resource. 

B. The Internet connection is too slow. 

C. The Internet is down at the moment, which causes the local server to not be able to respond. 

D. The server is running out of disk space. 

 
Correct 
Answer: A 
Section: (none) 
Explanation 

 

Explanation/Reference: 

 

QUESTION 107 
What should a CI/CD pipeline aim to achieve? 

 
A. to allow manual testing before deployment 

B. to require minimal manual interaction 

C. to support new deployments on a fixed monthly schedule 

D. to provide a documented process for feedback 

 
Correct Answer: B Section: (none) 
Explanation 

 

Explanation/Reference: 

 

QUESTION 108 
What are two benefit of managing network configuration via APIs? (Choose two.) 

 
A. configuration on devices becomes less complex 

B. more security due to locking out manual device configuration 

C. increased scalability and consistency of network changes 

D. eliminates the need of legacy management protocols like SNMP 

E. reduction in network changes performed manually 

 
Correct Answer: BC Section: 
(none) Explanation 
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